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BA RS ABEES L 4530 § AL 1448 2 ATHL 3L A B 1T F g% 2yt gt
AL A - B A%ﬁh’B%li’:H{&/»}%53036%;{'*’2807%{ % $ 5w L 0.68
.y:vo.azeaéug«s. (alphamz) 245> A~B % 4% 0928-0.932 ¥ 4 % £ 4 alpha
By 2074 > kT E 0814 (LA ) ERARAI G 0 ANB B2 TR g
K (mean Biserial ) 4 %] % 0.671 £ 0.678 (2 %4 )

F4 ~BABRBRKFEI AT (ReTFETHR)

K4 AX K+ B¥
3k 14 31 45 14 31 45
1 d 225 225 225 204 204 204
T a% R i 9.649 20.716 30.36 9.064 19.010 28.074
i 3.347 6.879 9.797 3.456 7.058 10.133
T AL -0.623 -0.341 -0.403 -0.525 -0.212 -0.295
"R -0.592 -0.96 -0.921 -0.744 -1.1 -1.064
ATk | & 1 2 4 1 4 7
HA#EH <~ B 14 31 45 14 31 45
Alpha & 0.824 0.896 0.928 0.828 0.901 0.932
i 1.405 2.216 2.633 1.434 2.223 2.651
T E ¥ 0.689 0.668 0.675 0.647 0.613 0.624
* iagé%g%gu! * 0.768 0.668 0.671 0.764 0.674 0.678
( Mean Biserial )
SR ORI L INA TR

A Ak K4 A% B+ B=X

Part A 10 0.802 0.797

Part B 5 0.743 0.809

Part C 15 0.789 0.790

Part D 15 0.798 0.814

BE 45 0.928 0.932
5.1.2 * 0%
*EASBEEL L A08E 0 7 w44 12488 0 2 ATRE 28 RE o A X Pk 2 4y i S A T
B4&Lt- %2 A-B X2 liagﬁ\ﬁx/w\w % 27.853 312 26363&’ 5%3‘4\%]; 0.696 &
0659 Z BIA 3 E2 LR R IHF -A-BE Y 5 0902 %K&f€§&$?§0.884(€§—

244 -)- A% PartB 2 fi&mg o e ATH 10 AP T3, 0672 T AL L R 4F

2 Alpha & 5 # 32 % & B - filkciE > BoiEARABIT 1o A 7 RIS A BeefR R L T AR S T IRIARE (572
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B FWREAYT S 6 0 A~B 32 Tioiags R (mean Biserial ) 4 &) & 0.643 £2 0.611 (G
B4L- ) EUR A

FoL - v plE AP A (RATTE TR

*oEAE ¥ B¥

T R Py s P
A 12 28 40 12 28 40
s 225 225 225 204 204 204
T o AT H 7911 19942 27853 7716 18647  26.363
g 2.874 5.328 7.807 2.995 5.52 8.183
i fi -0.581 -0.48 0495 0339 0177 0171
i B 0468  -0.659 0622  -0.842  -1.048  -1.104
AT | 1 5 8 1 7 9
$HATRCh 12 28 40 12 28 40
Alpha & 0.781 0.855 0.902 0.792 0.847 0.902
g 1.344 2.029 2.44 1.367 2.16 2.557
Ty 0.659 0.712 0.696 0.643 0.666 0.659
FERRANA e 0.647 0.643 0.736 0.592 0.611

( Mean Biserial )

FoL o S H FRERLIAS TR

BN ¥ = * kAL %t B %
PartA 30 0.884 0.873
PartB 10 0.672 0.701
w% 40 0.902 0.902

513 F g 2 P%

FREFFA-BEEL L 4038 7 T48E 1148 2 37202988 - & L (T ¥ B % 2 fy ik st
AYrFR AL Z o ANB B2 T EA B G 23488 2474488 ¥ 5 A w5 0585 &
05943 X2 FXER 24> 255 A% 0907 -B ¥ 0911 &30 i 2miE 0.74 2 ¢ (;ﬁ—
RiLw ) FRRELAIT >0 » A-Ba 2 T4 # % R (mean Biserial ) 4 %] 5 0.632
20628 (L &L= ) EHAELE -




2Lz 3R Rk AT A (RATE TR

RO AL & R# B
G 5% G g

AT 11 29 40 11 29 40

x i 225 225 225 204 204 204
T o4 4 i 6.942 16458  23.400 6926 16814  23.740
L 2.664 6.007 8.188 2.708 6.384 8.669
i# i -0.232 0.108 -0.029 -0.39 -0.027 -0.147
i B 0803  -0.868  -0.869  -0.843  -0.887 -0.952
T ) & 0 3 5 0 3 5
$HEHh & 11 29 40 11 29 40
Alpha & 0.751 0.878 0.907 0.759 0.879 0.911
i 1.329 2.097 2.494 1.329 2.218 2.592
Tya g 0.631 0.568 0.585 0.63 0.58 0.594
TSR A 0.727 0.639 0.632 0.734 0.63 0.628

( Mean Biserial )

A M FRURHAL FRERHBE
PatA 10 0.753 0.740
PartB 20 0.821 0.830
PartC 10 0.795 0.795

g% 40 0.907 0.911

522y 2254 R

BAB AL R EAIEARE > FE 4 A E I RIS TR 3 S 0 B 120 A iR A
Hcis > 2R A RKRTIBLF L B 5 A 69304 % 268384 - FREFH 6821 4 o
2101 R 284 T35 A M (B4 6734 ~* 26324 ~FREEH 6304 ) /s &
KIPR YA E ARG T EEL A ERR - K FLPT 4 49203 c A ¥ = 38 Pk =
FAu LA 703245 % 269564~ - FREFHF 68204 ;7 BEZFRHRSFR A B
4 68.18 & ~ * ;2 67.09 & ~ F R FH 68.22 » (;3—51,7\4* ) %3 #ks 7 (ANOVA)
B o ASB B LRk YHE LR E%ARA 0 F(L, 427)=0.693 - p>0.05~ * iz » F(1,
427)=1.133 > p>0.05- % 4 2 Bz > F(L, 427)=0.000 > p>0.05 » 354 if sz B % » A7 £ 4 0
A-BXz4mppd (42 )0

#+7 ~SA-BEX¥E x4 4R
4 RRES FREREH
Al Teeg R Tosdk FRE Tiosdk ERL
A% 225 70.32 26.21 69.56 23.47 68.20 24.62
B%¥ 204 68.18 27.08 67.09 24.61 68.22 26.07
B3t 429 69.30 26.59 68.38 24.00 68.21 25.26
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21+ ~A-BE 3% &M ANOVA ~» {758 %
iife  fd R Sriqe  F p it
A B 491.603 1 491.603 0.693 0.406
Zp 302,798.607 427 709.130
#4c  303,290.210 428
RiRES o R 653.687 1 653.687 1.133 0.288
Z P 246,359.852 427 576.955
#fc 247013538 428
FREEN R 0.045 1 0.045 0.000 0.993
fp 273,737.074 427 641.070
B4e  273,737.119 428

AXIFEXFERGT FLPT & 5V plse = 5 enpf 0% > B3t a & p 3R FLPT
FRPBRATEREY A (£ 114 4) 25 f 32 d FIPT2F2FpMiEsts (1= ) A
gk bgsr ot 114 42 2 e d \FUW/H%WLJE* TR AN A G
0919~ * ;2 % 0879 F LR 5 0812 » 4phf 124 fuﬁﬁ«gi"’? (z\»']‘ Ao AR
P AR R A I S FLPT R F e Ttk o % % Bor 4 4 e 1 N FLPT
L B EH R 0 t(113)=-0.176, p>0.05 ~ * ;% > t(113)=-1.060, p>0.05 ~ F % £ B 3 >
t(113)=-0.267, p>0.05 % A E 53 B F (£ L4 ) k& riErdr > ¥ Bt 4 L7 Fpl%
AR DT
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PART A: Answering Questions

In Part A, you will hear 10 questions or statements. After you hear a question or a
statement, read the four possible responses and decide which one would be the best
response to the question or statement you have heard.

Example:
You will hear: Where is your brother now?

You will read: A. He's 20 years old.
B. He's a doctor.
C. He's in New York.
D. He's thirsty. (Key: C)

PART B: Matching

In Part B, you will hear five short talks about furniture. After you hear each talk, choose the
statement that best outlines the talk you have heard. Please note that you will NOT use all of
the statements in the list.

Example:

You will hear: As with other markets, the key to trading in antique furniture is buying low and
selling high. To secure the best deals, | travel abroad, often to smaller cities and
towns. | look for one-of-a-kind pieces, and it doesn't matter if they're a little beat
up. | have them restored by an expert here in Taiwan. Take this cabinet, for
example. All of the old paint was removed, and then oil was applied to show off
the beauty of the wood.

Answer H best outlines the talk. Therefore you should choose answer H.

Questions 11-15

A salesperson encouraging customers to buy a product.
A company's global earnings from furniture.

Basic features of chairs used in the workplace.
Mass-produced furniture especially for students.

A news report about a popular furniture show.

The duties of a clerk in a furniture store.

The foreign origin of a kind of furniture.

I "Moo o0 @ »

Business tips from a dealer in classic furniture.
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PART C: Conversations

In Part C, you will hear several conversations. At the end of each conversation, you will be
asked one to two questions about what was said. After you hear the question, read the four
possible answers and decide which one would be the best answer to the question you have
heard.

Example:

You will hear: Man: What did Tom do with the money he won in the contest?
Woman: He donated some to charity, and he invested the rest in his
brother's business.

Question: How did Tom get the money?

You will read: A. He won a contest.
B. He worked for his brother.
C. He made money on his investment.
D. He got his money from a charity. (Key : A)

PART D: Short Talks

In Part D, you will hear several short talks. At the end of each talk, you will be asked one to
three questions about what was said. After you hear the question, read the four possible
answers and decide which one would be the best answer to the question you have heard.

Example :
You will hear: Peter and his friend Tom have been sharing an apartment for the past year.

They like the apartment very much. The only problem is that the rent is too high.
They have decided to try to find a cheaper place to live.

Question: Why have Peter and Tom decided to look for another place to live?

You will read: A. Because they don't like their apartment very much.
B. Because they have been living there for such a long time.
C. Because they think their apartment is too small.
D. Because the apartment that they are now living in is too expensive.
(Key : D)
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PART A: Sentence completion

This part of the test contains 30 sentences. Complete each sentence with the best

word or phrase from the four choices provided.

Example: Who

A. were
B. am
C.is

D. are

PART B: Cloze

your English teacher?

(Key: C)

This part of the test has two incomplete passages. Each passage contains five missing
words or phrases. Read the passages carefully. For each missing word or phrase, choose the
best answer from the four options (A, B, C, or D). On your answer sheet, find the number of the

question and mark your answer accordingly.

Example:

Because of their great variety and beauty, orchids have always been among
the most desirable and costly of flowers. __(1) , orchid prices have been falling
steadily in recent years __(2) new, more efficient cultivation techniques, many
of which have been developed in Taiwan. _(3) , Taiwanese growers produce
nearly a quarter of the world's orchids and are poised to expand their share of the
global market. With financial __(4) from the government, the Taiwan Orchid
Plantation was constructed near the town of Houbi in Tainan. Its _(5) is to
provide growers with an exposition hall, a genetics laboratory, over two hundred
greenhouses, and other key facilities for cultivating and exporting orchids.

Hence

Yet
Accordingly
Initially

Cow>

for the sake of
at the point of
as a result of
in spite of

cCowz

Instead

Likewise
Probably
Currently

oCow>

00>

00>

backing
affairs
status
policies

goal
reward
access
origin

(Key:B,C,D,AA)
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PART A: Vocabulary

In questions 1-10, each sentence has a blank. You are to choose the word which best
completes the meaning of the sentence.

Example: Roger is fifty years old now, but he still receives
on his birthday.
A. parks
B. judges
C. ideas
D. gifts

PART B: Reading Comprehension

from his parents every year

(Key : D)

In this part of the test you will read several passages, each followed by questions about
the meaning of what you have just read. There are altogether 20 questions in this part of the
test. You are to choose the best answer to each question.

Example:

o b~

Attention:
Please read the following instructions carefully before using this product.
1.

Do not open the back part.
Keep the monitor away from heat sources.
Use original parts as replacements.

Contact local service centers for repair services.

A two-year warranty is available.

1. Who are these instructions mainly
written for?
A. Salespersons
B. Customers
C. Service technicians
D. Service representatives

2. What is this product most likely to

be?

A. A computer

B. Awashing machine
C. Avacuum cleaner
D. Acar

26
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PART C: Choosing Correct Statements

Twelve sentences have been removed from the two texts below. From the

sentences in the boxes at the bottom of the pages, choose the sentence that best fits
in each gap. One of the missing sentences for each text has been correctly filled in

as an example. Please note that two of the sentences in each box will not be used.

Example:
Global Oil Production

In 1956, a renowned scientist named Marion King Hubbert forecasted future oil
production based on his own analysis. H Most oil experts rejected his
assessment. (1) To everyone's surprise, however, Hubbert was finally
vindicated when, in 1970, U.S. oil production surged and then gradually declined.

Afterwards, the public quickly believed Hubbert when he predicted worldwide oil
production would collapse within a generation. The following years, however, showed
that this pessimistic forecast was flawed. (2) In Hubbert's opinion, the price of
oil would not matter. In fact, it has had a profound impact on the oil supply. Rising oll
prices have motivated oil companies to find new oil sources. (3)

The rising oil price has also made it feasible for oil companies to adopt new and
more expensive extraction processes. In Canada, billions of barrels of oil are locked in
deposits of oily sand. (4) But now that a single barrel is worth US$100,
companies can afford to tap this vast reserve. Similarly, oil fields in the U.S. state of
North Dakota were hardly touched for years because the oil was trapped in solid rock.
Today it is financially worthwhile for companies to use a costly procedure called
"fracking" to extract the oil from the rock.

World oil production presently stands at about ninety million barrels per day, and
within two decades this figure could increase. (5) But as new extraction
technology is developed, that day will continue to retreat further and further into
the future.

A. The reason for such an error was that it did not take economics or
technological change into account.
B. In addition, the oil industry found itself confronting unexpected crises.
In the past, it was uneconomical to recover such oil.
D. This has led to breakthrough discoveries in countries like Ghana and French
Guiana.
E. After all, similar predictions had been made before and had been proven
wrong each time.
F. Some day, the world will face an inevitable oil shortage.
G. On the contrary, the demand for goods made from crude oil has skyrocketed.
O He estimated that U.S. oil production would peak within twenty years.
(Key: E,A,D,C,F)

O
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